Unit 6
Integration Rules

e Notes and some practice are included
®* Homework will be assigned on a daily basis

Topics Covered:

A/

**  Quick Indefinite Integrals

U Substitution of Indefinite Integrals

U Substitution of Definite Integrals

Integration by Parts

*  Average Function Value & Mean Value Theorem
Differential Equations
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Integration by Substitution: Part |

Find the Antiderivative
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Integration by Substitution: Part Il

Find the Antiderivative
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Integration by Parts: Part | — No table
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Integration By Parts - Table
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Differential Equations

Find the general solution of each differential equation.
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For each problem, find the particular solution of the differential equation that satisfies the

initial condition.
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Unit 6 Integration Rules Unit Review
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